EXIPEIT i423l201 9
Bachelor-of;Power Engineering: Exeminatlon, 2019
(4th Year, 2nd Semester)
Industrial Admimstratron & Management Sc!ence
‘Time: 3 hours L ~Eull:Marks:: 100
Different parts of the same question should be answered together
Answer Only required n‘umbet of questions Any 'xtra”' ues' on i 'swered shall be lgnored

1. Answerany one fiom (&), (o) and ) Wi this block. 1x20=20

(a) Present a diagram of a production managemant process Enumerate-varrous types of productqon :
system. Explain ‘Batch Production’. Exptam prdject trme-eo St drade- 4 +2+6+8

(o) (I) Statofeatures of aproject. - :: R 4

m The OWnBrof a chaln of tast food restaurants is consrdermg anew compute :,s;stem for .
'accounting and inventory control. A computer company sent the following set of tnformatlon about the
computer system installation:

Activity Description _:"immedlate Times (days)
R - Predecessor | Optimistic Most Likely | Pessimistic
A Selectthe computermedel |- - | 4 | 6 8
B Design inputioutput system A | 8 9- 16
C Design monitoring systems - A 4 8 12
D Assemble compiiter hardware B 15 20 | .25
E Develop the main programmes B 10 .18 28
F Develop input/output routines B U g L g T g
|G [Create database | E oS 8 12
H  [install the system | DF - et —2
|l Testand implement GH | 6 7

A) Construct the network dragram of the pro;ect and show expscted early start time, sgrly,t" inigh
time, late start time and-late finish time of each.activity.on the diagram. B) Determine the critical
path and compute the expected completion time of the pro;ect C) Determlne tha probabllity of

completing thé project i 65 days (consult Appendlx -1). S T+8+4
;(c) What are the assumptrons of break-even analysis‘? Explaln break-sven cheqrt'ﬂbsrive QBEP wrth
RS appropriate nOtauons e ’* et AN U natiea I e s 8 * 6+6
% Sl {-w I ) ;}t"?-i?z‘tij"’??&.?fr-:‘;rf:': WSS i ah v e Tl

2. Answer any one from (@) and (b) in this block

1x10=10
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" (b) Why do indlustries e to maneigesimvantories® Explaih VEDiaftdgslsy 711 & 46

zl&mnsmwztmfrom(;), (b)and (c)m this block. | ” o e2x15=8)

‘afThere aro 2 couniers for §suing tickets-at & sublba railway Stafion Both clerks i the Gouriters
work at the same average rate of 40 passengers an hour, The mean arrival rate s 64 passengers

... _anhour. If Poisson rates of arrival an service are assumed, findoutthe following: = 5x 3
BRI Follavie LG RS DU T T b TGN SRR sihee i

i) Server utilization factor. ‘ '
: Arii-{:'lﬁrhs"--pr@bahilityathat-stheré?::wiiIzba:nq passengerin theisystem. .o o s i
i ;Averagsanymhar; of patients waiting indhe.quene;: .~
(Iv) Average number of patients waiting in the system.
(v) Average patients’ waiting time in the system.

{b) Dete

s Ly e iten %o b L ST

). Determine an Initial basic feasible solution to the following transportation problem by using

| Destination

Source

Demand 20 40 ' 30

{c) Use dominance method to solve the following'game: - - 1 v vss i ae 15

Player8

4. Answer any two from (a), (b) and (c) In this block: . 2x10=20
" (a) What are the reasons for maintenance? State attributss of preventive maintendfés. =" © " 45

(b} Enumerate the'steps of constructing control charts. _E)gpglgigig?gﬁgg\oﬁvarjgﬁens_jg control charts, 545

L6 TBY Ot S0 YA neEns

. {c) "Iffime is measured contnuausly, tien the average annual cost il be minimized by replacing the
. Mmachino when tho averagecost oday.hecames equal o the cyst mefhtsnancerdidst:, Brove s
. statement withi&ppropriate niotationsiand gssumplions: - . o s st 0 e e

10
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5. Explain anytwofmm(a), (b}and O thls;blosk it 2x10=20

(a) Importance'af mﬂtivati‘on lb)‘ff'_ B 6 ntml* inan orgamsai n. {c) S.L.M.O chart.
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